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where C is the curve £ = y*, z = 4 + 7 from the point (4,2, 8) to the point (1,1, 5).

13 1. Ewaluate the line integral
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7 2. Evaluate the line integral
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where C counsists of the three stralght line segients joining successively the points (2,0), (2,1),
(—=2,1), and (-2,0).
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9 3. Evaluate the surface integral
# (2% + 301+ 2% + (32 + sina)k] - A dS,
5
where S is the closed surface that bounds the volume enclosed by the surfaces
2+y?=4, z=1, z=-1,

and n is the unit inward pointing normal to S.
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3 Mote: S (cwwezfl s,lu.)us (tep) V S 5 (bathnn).
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14 4. Evaluate the surface integral

ffs (vi— 2j + zk) - hdS

where S is that part of the surface z = 9 - x? — y? above the zy-plane, and 1 is the unit normal
to S with positive z-component.
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